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61.  For a unitary elastic demand curve, when 
price increases ,the amount spent by a

 consumer on a /good?
 a)  Decreases
 b)  Increases
 c)  Remains unchanged
 d)  Becomes zero

62.  For a Giffen good___?
 a) Income effect  is  posi t ive and 

substitution effect is negative.
 b) Income effect is negative and 

substitution effect is positive.
 c) Income effect and substitution effect 

both are positive.
 d) Income effect and substitution effect 

both are negative

63.  Which of the following is not expressed
 by a transformation curve?
 a) Choice
 b) Scarcity
 c) Factor price
 d) Opportunity cost

64.  The shape of average selling cost curve 
is ?

 a)  Hyperbola shaped
 b)  Rectangular Hyperbola shaped
 c)  L-shaped
 d)  U-shaped

65.  Mesokurtotic distribution is also known 
as__?

 a)  Gamma distribution
2

 b)  x  distribution
 c)  Beta distribution
 d)  Normal distribution

a)

b)

c)

d)

63.

a)

b)

c)

d)

64.

a)

b)

c)

d)

65.

62.
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b)

c)

d)
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66.  Specialization is a feature of which 
Organizational Structure?

 a)  Matrix
 b)  Divisional
 c)  Multi-divisional
 d)  Functional

67.  Which part of organizational culture is 
closest to the "surface" (i.e. observable

 indicators)?
 a) Assumptions
 b)  Artifacts
 c)  Beliefs
 d)  Shared values

68.  Which of the following statement is true 
about stress management?

 a) Stress management is learning about 
the connection between mind and 
body

 b) Stress management helps us control 
our health in a positive sense

 c) Stress management teaches us to 
avoid all kinds of stress

 d)  Both a and b

69.  ……....… is a Performance management 
tool that helps in measuring strategy

 implementation.
 a)  HR Scorecard
 b)  Balanced scorecard
 c)  Financial scorecard
 d)  None of the above

70.  CIRO approach to Training and 
Development stands for...........

 a) Content, initiative, response and 
output

 b) Content, input, response and 
operation

 c) Content, input, reliable and output
 d) Content, input , reaction and output

a)

b)

c)

d)

66.

67.

a)

b)

c)

d)

a)

b)

c)

d)

68.

69.

a)

b)

c)

d)

a)

b)

c)

d)

70.
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71.  The perspective in which organizations 
are seen to be made up of different 
groups that have their own sub-cultures 
is called...............

 a)  Integrationist
 b)  Differentiationist
 c)  Fragmentationist
 d)  None of the above

72.  Vertical hierarchy and old departmental 
boundaries are virtually eliminated 
through:

 a) Horizontal structure
 b)  Matrix structure
 c)  Geographic structure
 d)  Virtual structure

73. The earliest auditory test is ______ 
whispered speech test.

 a)  Walter’s
 b)  Andrew’s
 c)  David’s
 d)  Mathew’s

74.  A Swiss psychiatrist who developed most 
widely practiced ink blot test in 1971

 was…………
 a)  T.T. Thurstone
 b)  Hermann Rorschach
 c)  Standorf Binnet
 d)  Simon

75.  Indian citizen who is employed at the 
subsidiary of Infosys in USA is a _______

 a)  Parent Country National
 b)  Host Country National
 c)  Third Country National
 d)  None of the above

a)

b)

c)

d)

71.

a)

b)

c)

d)

72.

a)

b)

c)

d)

73.

a)

b)

c)

d)

74.

a)

b)

c)

d)
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76.  A team leader who has been led to 
believe that a new employee has great 
potential might behave towards the new 
employee in such a way that the new 
employees’ performance is, in fact, very 
good is an example of:

 a)  Projection
 b)  Perceptual defence
 c)  Self-fulfilling prophecy
 d)  Stereotyping

77. _____ suggests that people emit 
responses that are rewarded and will not 
emit responses that are either not 
rewarded or punished.

 a)  Classical conditioning
 b)  Operant conditioning
 c)  Cognitive Learning theory
 d)  Social Learning theory

78.  Budgetary control is a ………………..
 a)  Planning technique
 b)  Forecasting technique
 c)  Controlling technique
 d)  None of the above

79.  As per the Double-entry concept
 a)  Assets + Liabilities = Capital
 b)  Assets - Liabilities = Capital
 c)  Assets + Capital = Liabilities
 d)  Capital + Liabilities + Assets = 0

a)

b)

c)

d)

76.
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b)

c)

d)
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b)

c)

d)
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b)

c)
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80.  The journal is the book of ……… entry 
and ledger is the book of ……… entry.

 a)  Second and First
 b)  Primary and Secondary
 c)  Secondary and Primary
 d)  Last and First

81.  Financial decisions of the firm are 
guided by……………

 a)  Firm’s wealth
 b)  Risk–return trade –off
 c)  Retention ratio
 d)  Financial leverage

82.  In multiperiod compounding , the 
effective interest rate will be…………..

 a)  Equal to nominal interest rate
 b)  More than nominal interest rate
 c)  Less than nominal interest rate
 d)  Could be less than or equal to 

nominal interest rate

83.  Most of the financial decisions, personal 
as well as business, involve the time 
value of money. We use the ………… to 
express the time value of money.

 a)  Compounding
 b)  Discounting
 c)  Underwriting
 d)  Arbitrage

84.  Maximisation of ……………..is the main 
objective of Financial Management.

 a)  Profit
 b)  Wealth
 c)  both Profit & Wealth
 d)  Sales

a)

b)

c)

d)

80.
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b)

c)

d)

81.
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b)

c)

d)

82.

a)

b)

c)

d)
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a)

b)

c)

d)
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85.  The buying and selling activities of the 
arbitrageur...............................

 a)  Increase the profit
 b)  Creates disequilibrium
 c) Reduce the profit margin
 d)  Ensures the equilibrium level

86.  A ……….. Contract is a customized 
contract between two entities, where 
settlement takes place on a specific date 
in the future at today’s pre-agreed price.

 a)  Forward
 b)  Future
 c)  Option
 d)  Swap

87.  The stock above the security market line 
is …………………..

 a)  Overpriced
 b)  Underpriced
 c)  Fairly Priced
 d)  Either A or B

88.  In finance, what is measured with the 
help of beta (β)?

 a)  Unsystematic Risk
 b)  Systematic Risk
 c)  Portfolio Risk
 d)  None of the above

89.  Interest tax shield is available in case 
of………..

 a)  Preference Shares
 b)  Equity Shares
 c)  Bonds
 d)  Retained Earnings

a)

b)

c)

d)

85.

a)

b)

c)

d)

86.

a)

b)

c)

d)

87.

a)

b)

c)

d)

89.
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90.  Securities and funds pay out takes place 
on ______ working days after the trade 
date.

 a)  T+5
 b)  B. T+1
 c)  T+2
 d)  T+3

91.  If the present amount P is invested at i 
rate of interest for one year, then the 
future value FV at the end of one year will 
be…..

 a) FV =P+i
 b) FV = P (l+i)
 c)  FV = P x i
 d)  FV = P / (l+i)

92.  Stewardship theory considers……
 a)  Board of Directors as The Trustee of 

the Company
 b) Directors as the Owner of the 

Company
 c)  Independent d i rector  as main 

authority
 d)  None of These

93.  In …………..theory of ethics, rightness of 
an action is determined solely by their 
good consequences.

 a)  Deontological
 b)  Teleological
 c)  Utilitarian Approach
 d)  All of the Above

94. Cost of capital is the…………..required 
rate of return expected by the investors.

 a)  Optimum
 b)  Minimum
 c)  Maximum
 d)  Required

a)

b)

c)

d)

90.

a)

b)

c)

d)

91.

a)

b)

c)

d)

92.

a)

b)

c)

d)

93.

a)

b)

c)

d)

94.
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95.  In proper capital budgeting analysis we 
evaluate ……………….incremental.

 a)  Profits
 b)  Cash flow
 c)  Earning
 d)  Return

96.  Payback Period Method of Capital 
Budgeting is based on…………………..

 a)  Accounting profit
 b)  Average profit
 c)  Cash flows after taxes
 d)  Net profit

97.  Which of the following Method of Capital 
Budgeting is not considering the Time 
Value of Money?

 a)  Accounting Rate of Return Method
 b)  Internal Rate of Return Method
 c)  Net Present Value Method
 d)  None of the above

98.  Which of the followings are the principles 
of corporate governance?

 a)  Accountability
 b)  Independence
 c)  Transparency
 d)  Above All

99.  Given the two regression lines estimated 
from given data as Y = 4 + 0.4X  and X =

 −2 + 0.9Y , What will be the value of the 
correlation coefficient?

 a)  0.4
 b)  0.6
 c)  0.5
 d)  0.8

a)

b)

c)

d)

95.

a)

b)

c)

d)
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b)

c)
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b)
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b)

c)
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100.  Which of the following is a non-
probability based sampling method?

 a)  Systematic Sampling
 b)  Stratified Random Sampling
 c)  Quota Sampling
 d)  Simple Random Sampling

101.  If rank correlation coefficient r= .8 and 
2

Σd  = 33. Find the value of n?
 a)  15
 b)  10
 c)  20
 d)  25

102. The mean and variance of a Binomial 
Distribution is equal to ?

 
  

103. ________is degree to which employees 
believe that organization values their 
contribution and cares about their well 
being 

 a)  Employee Engagement
 b) Organizational Commitment
 c)  Perceived Organizational Support
 d)  Job Satisfaction

104.  Matching effect between employee and 
customer emotions is called_______

 a)  Emotional Contagion
 b)  Emotional Labour
 c)  Emotional Intelligence
 d)  Social Intelligence

a)

b)

c)

d)

100.

a)

b)

c)

d)

101.

a)

b)

c)

d)
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b)

c)

d)
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b)

c)

d)
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b)

c)

d)
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105.  Which of the fol lowing theory of 
motivation is concerned with beneficial 
effects of intrinsic motivation and the 
harmful effects of extrinsic motivation?

 a)  Self determination Theory
 b)  Motivation-Hygiene Theory
 c)  Goal Setting Theory
 d)  Social Cognitive Theory

106.  Systems Model of Industrial Relations 
was developed by

 a)  John T. Dunlop
 b)  Talcott Parson
 c)  Dale Yoder
 d)  Neil Chamberlain

107.  The state of relationship under which 
parties instead of offering their best, offer 
the least in the absence of which 
relationship will break is called:

 a)  Conjunction
 b)  Collective Bargaining
 c)  Collaboration
 d)  Competitiveness

108.  Large fluctuat ions in orders are 
experienced as manufacturer moves up 
the supply chain from dealers to the 
manufactures of the industrial goods. 
This is also known as:

 a)  Acceleration effect
 b)  Fluctuating effect
 c)  Bull-whip effect
 d)  None of the above

105.

a)

b)

c)

d)

a)

b)

c)

d)

106.

a)

b)

c)

d)

107.
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c)
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109. Sub-assemblies, an industrial item, 
covered under which category of 
industrial goods:

 a)  Raw material
 b)  Materials and parts
 c)  Capital item
 d)  Supplies and services

110.  The BUYGRID model provides the 
framework for industrial buying situations, 
and covers the two parts of the buying 
situations. These two situations are:

 a)  Buy classes and buy category
 b)  Buy phases and buy stages
 c)  Buy phases and buy classes
 d)  None of the above

111.  In which of the following price quotation 
of international business, al l  the 
expenses and risks are borne by the 
buyers right from manufacturers door 
steps?

 a)  Ex-factory price
 b)  CIF
 c)  Franco price
 d)  FAS

112.  When group of countries abolishes all 
t r a d e  b a r r i e r s ,  a d o p t s  u n i f o r m 
commercial policy with non-members, 
allows free movement of labour and 
capital and also achieves some degree 
of harmonization of economic policies. It 
is a type of which integration?

 a)  Economic integration
 b)  Custom Union
 c)  Economic Union
 d)  Common market

a)

b)

c)

d)
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c)
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113.  A strategy in which the sellers tries to 
place his product in as many outlets as  
possible is called.......................

 a)  Mass Distribution
 b)  Mega Distribution
 c)  Excessive Distribution
 d)  Intensive Distribution

114.  Who gave the concept of Marketing 
Myopia?

 a)  P. Kotler
 b)  McCarthy
 c)  Theodore Levitt
 d)  N.H. Borden

115.  While introducing a brand/product in the 
market, if a company goes for low 
promotion and premium prices, the 
strategy will be ……

 a)  Rapid penetration
 b)  Slow penetration
 c)  Slow skimming
 d)  Rapid skimming

116.  Which of the following is not a behavioural 
segmentation variable?

 a)  Religion
 b)  Loyalty
 c)  Occasions
 d)  Attitude

117.  Micro, Small and Medium Enterprises 
(MSME) Development Act was enacted 
in……

 a)  2002
 b)  2005
 c)  2006
 d)  2004

a)

b)

c)

d)

113.
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b)

c)
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118.  Entrepreneurs who resists change, shy 
& lazy in nature are called ……………

 a)  Imitative entrepreneurs
 b)  Drone entrepreneurs
 c)  Fabian entrepreneurs
 d)  None of the above

119.  The number of different product lines of a 
company termed the product mix...........:

 a)  Length
 b)  Width
 c)  Depth
 d)  All of the above

120.  P r i c e s  o f  e x c h a n g e s  b e t w e e n 
subsidiaries and branches is known 
as................

 a)  Holding pricing
 b)  Branch pricing
 c)  Transfer pricing
 d)  Negotiation pricing

a)

b)

c)

d)
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